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Cross off the number that does NOT belong.

56771, 15677, 71567, 77156, 67715, 56771, 15677, 67715, 

71567, 77156, 67715, 56771, 15677, 71567, 77156

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

9, 17, 26, 43, 69, 112, 181, 293, 474, 767, 1241, 1718, 2008, 3249, 5257

Why does __________ not belong in the pattern?
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Find the missing numbers.
If
   1 , 1 = 1
   2 , 2 = 4
   3 , 3 = 9
   4 , 4 = 16
Then
   10 , 10 = ?
Hint: The answer is NOT 25.

If
   7 , 7 = 14
   8 , 8 = 16
   9 , 9 = 18
   10 , 10 = 20
Then
   14 , 14 = ?

Complete each pattern.  Write what the rule is for each pattern.

1
9 ,  (1) ,  (9) , 

 (81) ,  (729) ,  

(6,561) ,  (59,049) , , 

1
32768 , 1

4096 , 1
512 , 1

64 , 1
8 , 

 (1) ,  (8) , 

 (64) , 
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Find the LCM using the Birthday Cake method.

2 264 216

2 132 108

3 66 54

2 22 18
11 9

LCM: 2 x 2 x 3 x 2 x 11 x 9 = 2376

5 55 35

LCM:

4 176 160

LCM:

4 20 36

LCM:

12 36 72

LCM:

32 30

LCM:

33 18

LCM:

36 39

LCM:

12 18

LCM:

33 15

LCM:

24 30

LCM:
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Spin again. I needed to spin time(s) to finish.

Find the LCM using the Birthday Cake method.

2 180 162

3 90 81

3 30 27
10 9

LCM: 2 x 3 x 3 x 10 x 9 = 1620

12 132 144

LCM:

3 33 36

LCM:

6 36 30

LCM:

4 28 36

LCM:

114 84

LCM:

54 51

LCM:
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Lunches in the Midvale 
Elementary School 
cafeteria cost $5.30 
each. If 418 students 
bought their lunches on 
the first day of school, 
how much money was 
paid for lunches in all?

Girls' Day is held on the 
third day of the third 
month in Japan. Boys' 
Day is celebrated on 
the fifth day of the fifth 
month. This day is also 
called Children's Day. 
How many days after 
Girls' Day does 
Children's Day occur?

Hunter is attending the 
World Eskimo-Indian 
Olympics. He can go to 
either the Blanket Toss 
or the Greased Pole 
Walk. He can choose 
either the qualifying 
rounds, the semifinals, or 
the finals of the events. 
He can buy only one 
ticket. How many 
choices does he have?

Maria rolls a die.  What is the 
chance of her rolling a 6? 10 x 8 =  

The letters C and I each 
have a line of symmetry.  
Name another letter 
between C and I that has a 
line of symmetry.

1 cm = 10 mm

17 cm = mm

Circle the greatest number:
8,397,640,215 6,091,345
7,082 28,479,315

2 8
- 1 5

61,526 + 72,234 =  

Wendy rolls two dice.  She adds 
the numbers on the two dice.  
What is the chance of this sum 
being three?

36 ÷ 4 =  28 ÷ 7 = 
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5 6 ÷ 8 = 7 5 0 4 5 0 = 4 1 0 2
5 = 1 =

Use the pieces above to help you fill in the runaway math puzzle.

In the number 706,850,921, the digit 1 is in 
what place?

What time is 14 hours after 
4:00 a.m.?

3 x 6 =  6 lb = oz 18 ÷ 6 =  

9

3
4 x = 2 0 5
8 3 4 x = 0
÷ 9 ÷
8 5 ÷ 5 = 9 6
= 4 =
6 x = 3 0 5 2 x 0

x 9 x
5 4 x 1 = 1 7
= 6 3 x 8 0 x
2 ÷ 4 = 5 1 ÷ 7 = 3 7

6 2 = 6 0 =
= 7 8 4

3 6 ÷ 4 9
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

2 1
+ 4 7

You can buy 4 fancy pens for 
$16 at the store.  At this rate, 
what would be the cost of 
eight fancy pens?

6 x 10 =  28 ÷ 7 =  

How many grams are in 8 kilograms?

 grams
2 4 8

+ 2 7 3
24 ÷ 2 =  

10 ÷ 2 =  
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7 7 4 2 8 + 7 2 + 9 9 + 4 = 1 3
- 9 4

Use the pieces above to help you fill in the runaway math puzzle.

Circle the smallest number:
2,035,403,826

7,206,453
971,452,967,310

18,981,679

9 1 5
- 8 4 0

Here is a pattern of letters:

     K A A P X K A A P X K A A P X K . . .

What letter will be the 39th term in the 
pattern?

What number is halfway 
between 8 and 14?

word root curv can mean bent curve, curveball

4 - 4 = -

+

+ 7 + 5 = 1 4

8 =

2 = 8

7 4 = 1 - 6

- 2

8 + 8

= 2 1 + = 1 0

1

6 - = 8 - 3

9
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9.2 +33.7 +19.3

-42.1-5

-6

+14 +21.9 +7.5 52.5

-38.6

+53

-26 +31.8 -36.4

+51.5

+4

-67.9

-18 5.9

67.2 -2.9

-46

+57.4

-7.6

+14 +5

-6

81.1

-4.7

76.4 +3.1 79.5 +12.5 92 -8.8

83.2

-23+18.3

+9

-17.4 70.1

885 + 726 =  
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What is the greatest 
common factor of 4 and 12?

8 - n = 3 What is the greatest 
common factor of 12 and 
18?

Is the least common 
multiple of 6 and 4 smaller, 
equal to, or greater than 
the greatest common 
factor of 6 and 4?

What is the least common 
multiple of 4 and 7?

What is the greatest 
common factor of 6 and 14?

What is the least common 
multiple of 12 and 8?

What is the least common 
multiple of 14 and 18?

n + 35 = 41

What is the least common 
multiple of 6, 33, and 36?

30 - n = 15 n + 16 = 30
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4
8

3
5

1
2

1
4

1
7

Name two of the above numbers that have a sum of 17
20

.

Use ALL of these digits, including the decimal point.  Cross off a digit after you use it.

7 . 9 5
Write the closest number that you can to 5.4.  Remember to use all the digits and the 

decimal point.

0.1 (0.2 (0.1 x 5)) = 15.8829 x 104 = Simplify.

184
276

 = 
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Write the number that when 

multiplied by 5 is -25.

When you take some number and subtract -95 from it, 

the difference is 122.  What is the number?

6  +  3
4

 - 2
5

 = 49 - 9
11

 = Reduce 65
80

 to its lowest 

terms.

6 x 8 ÷ 8
9.7482 x 102  =

|-7| + s = 2

s =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

8 + 2 =

6 + 5 =

4 + 1 =

7 + 6 =

2 + 2 =

1 + 5 =

9 + 1 =

5 + 7 =

3 + 4 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

7 + 8 = 6 + 4 = 4 + 7 = 4 + 4 = 3 + 3 =

7 + 5 = 3 + 5 = 3 + 7 = 7 + 4 = 4 + 3 =

3 + 4 = 4 + 8 = 9 + 4 = 5 + 9 = 8 + 8 =

7 + 4 = 5 + 8 = 4 + 7 = 4 + 6 = 7 + 4 =

5 + 7 = 8 + 4 = 7 + 7 = 7 + 10 = 9 + 3 =

96

29 67

29

3

52

47

77

41

43

20

38 + 10 = 24 + 8 = 44 + 5 = 16 + 6 = 78 + 3 =

56 + 7 = 66 + 3 = 73 + 7 = 68 + 9 = 39 + 5 =

17 + 3 = 54 + 2 = 28 + 7 = 47 + 8 = 57 + 3 =

13 + 8 = 23 + 4 = 74 + 7 = 35 + 4 = 44 + 5 =

63 + 5 = 53 + 6 = 66 + 4 = 78 + 4 = 28 + 4 =

14 + 8 = 48 + 4 = 36 + 9 = 36 + 3 = 17 + 6 =
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Circle words to the RIGHT or DOWN.  Every letter is used exactly ONCE.
E A R E Q U I R E M E N T S
N N P P U K E E N P A W T R Y
M D R R P C O U N C I L S P D
I E I E S C H E D U L E S L E
T L V H C O I N S T E N A B
I U A E H U R R Y L A S T Y U
E X T A N E W S P A P E R S T
S E E T U P F O R T R E S S SWrite the words found.

DEBUTS TRY

Circle words to the RIGHT or DOWN.  Every letter is used exactly ONCE.
O H E W G A S D E D I C A T E
F T S A I L B O A T S P O E M
F E A A F S B I C Y C L E
E N M P C L U N R N W O E C
N S O P A W T E A O L I S T H
S I N E N A U E N W Z O O M O
E O T A D Y R Z K B I L L A R
S N H R Y S E E B A C O N P DWrite the words found.

CHORD BICYCLE
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Select the word or phrase whose meaning is closest to the given word.

CONNIVING

scheming
rousing

salivating
admiring

bereaving

ARID

humid
windy

saturated
chilly

dry

ANODYNE

sterile
entangled
refreshing
inoffensive

peaceful

HUBRIS

excessive pride
central
empty

gigantic
thriving

ITINERANT

nomadic
structured
stationary

layered
intrinsic

ACCOLADE

fear
legitimacy

worry
praise

beverage

NEOPHYTE

mineral
referee

tyro
expert

veteran

OBDURATE

indolent
rotten

recalcitrant
moody

stubborn

INSOMNIA

too much sleep
sleepwalking

sleeping at work
sleeplessness

sleepiness

Now find the given words AND the answers in the word search.  If you can't find an answer, you might be wrong.

N V E G E U S N B V I E R E D I R P E V I S S E C X E E E D T Y R O

P I O V N Y I A O C E D A L O C C A O O B N E E D B N O M N D E N C

Y N S I P N L E S M B I N A I N M O S N I C I E E H L R G E A Y P B

H T P M R I D H E T A E A T I F F I N O F F E N S I V E V O I E N H

N I T I N E R A N T U D N E P P R A I S E O N Y C O S U N P I D S G

D W I A I A R I D E T B I B O A L C S I A N N D Y N Y E F H E E H I

S V A R A E S B D I S U B C E H U B R I S R O O A R E A C Y O L E C

B T I I E I S E N S I S N O G N I V I N N O C N Z E D C E T R L B E

S L E E P L E S S N E S S O R O B D U R A T E A Y R C B E E A M T I

S C H E M I N G S A A R I H E N R N N N J M N N V V A R C I A A O N
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priority caramel nieces clusters tremor industries
Each row, column, and box must have all the words from the word list.  Write in the missing 
words.

caramel industries priority clusters

caramel

tremor

nieces

priority nieces

industries clusters priority

5 x 8 =  

Can 919 be evenly divided by 3? Circle:
919 is evenly divisible by 3
919 is NOT evenly divisible by 3

16 ÷ 8 =  

Can 335 be evenly divided by 5? Circle:
335 is evenly divisible by 5
335 is NOT evenly divisible by 5

9 x 12 = 

word root clam can mean call out or shout exclamation, proclamation

12 x 6 = 
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